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(English Version)

[nstructions :

i)

i)

(iii)

(iv)

(1)

374 (FZ) 7 P.T.0.

First 15 minutes are allotted for the
candidates to read the quiestion paper.

All questions are compulsory. Marks
allotted to each question are given in the
margin.

In numerical questions, give all the steps
of calculation.

Give relevant answers to the questions.

Give  chemical  equations, wherever
HE'('('HHGF?\'.

Four alternatives are given in each part of
this  question. Select -the correct
alternative and write it in your
answer book.

(a) The rate of a zero order reaction
A+B-oCis
()  Rate=KI[A]°[B]°
(i)  Rate =K [A]' (B]°
(i) Rate = K [A]° [B]!

(iv) None of these

(b)

{e)

(d)

374 (FZ)

The standard reducing electrode
potentials of three metallic cations,
viz., X, y and z are + 0-52, — 3-03 and
118 V respectively. The order of
reducing capability of the related

metals 1s

(1) y>2>X
(11) X>y>2
(i) z>y>Xx
(vl z>x>y

The oxidation number of Cu in the
ion [Cu(CN) P is

(1) + 2
() +3
(i) + 1
(iv) 7

The main source of Helium is
(1) Air

(11)  Monazite sand

(iii) Radium

(1v)  None of these

8



(e)

2. (a)

(b)

(c)

(d)

3. (a)

(b)
374 (FZ)

Which of the electrons are released

from a transition metal to acquire

highest oxidation state 7 1

(1) ns electron
(i)  (n+1)d electron
(i)  (n- 1) electron

(iv) ns+(n- 1)d electron

The oxidation number of Cl in NOC]

is-landinHOCHl.Why? I

Explain the mechanism of Catalytic

Promoter. 1

Why is water not added to HySO, for

making a dilute solution ? 1

Why do + 3 and + 4 oxidation states
of Cerium (atomic number 58)

remain stable ? 1

Explain Coordination number citing

one example. 1

What is Gold number ? Explain, 1
9 P.T.O.

(c)  Write the IUPAC names of the
following :

(i) [Ni(NHg)sCly]
i) [Mn(H,0)1%*

(d) Write the chemical equation of
chromyl chloride test.

4. (a) Differentiate between order of a
chemical reaction and molecularity
by giving an example.

(b} Can Br~ be oxidised into bromine by

Fet* 9

(E° . 4, =0771Vand

Fe” [/ Fe

g0 =109 V)
Br., ¢ Br

et Balanee the following equation by
oxidation number method :

NoCrol; + FeS0y + HpSOy ——-»

HH'\}* + [‘I.'_?I.H(-)_itl:j + }‘192{804]3 + F_{.’.O

(d"  Explain  the  phenomenon  of
peptization by an example.

374 (FZ) 10



(b)

(c)

(d)

374 (FZ)

On Increasing the temperature of a
chemical reaction from 290K to
300K, the rate of the reaction
becomes double. Find out the energy

of activation of the reaction.

_ -1
(R=8314J K mol ;
]Gglﬂ 2= 0301[}]

Describe the standard hydrcng.en
electrode giving diagram and write 1t

one use.

Write the chemical equation for t}.le

of Phosphine 11
and also write the
of the formation

£ the formation of

preparatiun
laboratory

chemical equations
of impurities and 0
vortex Ting-.

the Geometrical

Show clearly coordination

. in
jsomerisim !

iving 0
compo on mmpgunds w

ne example each
ith
of the coordinat

on numbers 4 and 6.

cnordiﬂati

1

2

p.T.O.

Describe the lead chamber process for the
manufacture of sulphuric acid giving
diagram and required chemical equations.

OR

Write the chemical equation for obtaining
chlorine from KyCryO; and also for
preparing sulphuryl chloride and calcium

chlorohypochlorite from chlorine.

Write the method for obtaining silver by
Cvanide process and write the required

chemical equations.
OR
By taking the exampie of Iron, explain the

process of smelting giving the diagram of a

furnace and chemical equation.,

374 (F2) 12



